Factorising 2nd degree polynomials
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Example:
the solutions of 
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    and   3    (use the quadratic formula)




so we can write  
[image: image8.wmf](

)

÷

ø

ö

ç

è

æ

+

-

=

-

-

2

1

3

4

6

10

4

2

x

x

x

x


Note: When you reach a quadratic without roots, it remains as the last factor

 
of the factorised expression.

Note: When you reach a quadratic which you know how to factorise by 

 
other means, you can stop dividing and factorise the other way.

Example:

Factorise 
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dividing with Ruffini’s rule
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using now quadratic formula
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so we can write  
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the solutions of 
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